Name ___________________________________ Date ______________________ Period _________

CHAPTER 3 GROUP REVIEW

1. Lines that are in different planes are ______________________.

2. The __________________________ form of a line is used to write an equation of a line with a given slope that passes through a given point.

[image: ]3. Identify each of the following:
	a) a pair of skew segments	b) a pair of perpendicular segments




[image: ]
4. Identify the transversal and classify each angle pair.
	a) angles 5 and 2		b) angles 2 and 4






5. Find each angle measure. Name the theorem or postulate you used to set up an equation.
[image: ][image: ]	a) 						b) 













6. Use the given information and theorems or postulates you have learned to show that c  d.
[image: ]		a)  , 		b) 







[image: ]

7. Name the shortest segment from point K to . 

[bookmark: _GoBack]

[image: ]8. Write a two-column proof: 
							Statements			Reasons













[image: ]9. Use the slope formula to determine the slope of the line. 









10. Use slopes to determine if the lines are parallel, perpendicular, or neither.
[image: ]







11. Write the equation of each line in the given form. (*MUST USE POINT-SLOPE TO PLUG IN AND SOLVE*)
	a) the line through (6, 1) and (-3, 5) in slope-intercept form





	b) the line with x-intercept of 1 and y-intercept of -2 in standard form.





12. Determine whether the lines are parallel, intersect, or coincide.
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. Perpendicular Lines (pp. 172-178)
EXAMPLES EXERCISES
® Name the shortest X 22. Name the shorlei segment L
segment from from point Kto LN. s
i wy. xX+3
point Xto Y. 23. Write and solve an
Xz inequality for x. K M
w z
m Write and solve an inequality for x. N
x+3>3 —
24. Given: AD || BC,AD 1 AB, DC 1 BC
x>0 Subtract 3 from both sides. N —
Prove: AB || CD A B
m Given: m L p, Z1 and £2 are complementary.
Prove: p || q m n
D C
2
Proof: =

Itis given that m L p. Z1 and £2 are
complementary, so mZ1 + mZ2 = 90°.
Thus m L q. Two lines perpendicular to
the same line are parallel, so p || g.

204  Chapter 3 Parallel and Perpendicular Lines
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. Slopes of Lines (pp. 182-187)

EXAMPLES EXERCISES

Use the slope formula to determine the slope of

m Use the slope formula

to determine the slope each line.
of the line. 25. 2ty 26.
A
B
< >
—4 0. 2 X
— — (= —4
slopeofm: iz,i/l 3= (=3) :%: 1
2T 2= (=) — Use slopes to determine if the lines are parallel,
m Use slopes to determine whether AB and CD perpendicular, or neither.
are parallel, perpendicular, or neither for 27. FF and GH for E(8, 2 3, 4), G(6, 1), and
A(-1,5), B(—3,4), C(3,—1),and D(4, -3). H(~4,3) E®,2), F=34). G(6.1)
4-5 1
slope of A = Soon~2 28. JK and IM for J(4, 3), K(—4, —2), L(5, 6), and
lopeof ti= =D _—2_ aceh
slope of €D = —3——=—==— 29. ST and UV for S(—4, 5), 7(2, 3), U(3, 1), and
The slopes are opposite reciprocals, so the V(4 4)

lines are perpendicular.

. Lines in the Coordinate Plane (pp. 190-197)

'EXAMPLES EXERCISES
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2. Lines that are in different planes are __ 2 . B

3. A(n)__? isaline that intersects two coplanar lines at two points.

4. The _? isused to write the equation of a line with a given slope that passes
through a given point.

5. The slope of aline is the ratio of the __ 2 tothe _?

nes and Angles (pp. 146-151)

EXAMPLES EXERCISES

Identify each of the following. Identify each of the following. B
A B A B
D D
F C
H G
B a pair of parallel segments 6. a pair of skew segments
AB| CD 7. a pair of parallel segments 1
B apair of parallel planes 8. a pair of perpendicular segments
plane ABC || plane EFG 9. a pair of parallel planes

m a pair of perpendicular segments
AB L AE
W a pair of skew segments

AB and FG are skew.
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Identify the transversal and Identify the transversal and

classify each angle pair. classify each angle pair. 3 .n

m Z4and £6 10. £5and 22 N 0
p, corresponding angles 11. Z6and £3

® Zland £2 b q’ 12. Z2and £4 2 |
g, alternate interior angles 13. Z1and £2

m /3and Z4 . .

p, alternate exterior angles
m Z6and £7

r, same-side interior angles

. Angles Formed by Parallel Lines and Transversals (pp. 155-161)

EXAMPLES EXERCISES

Find each angle measure. Find each angle measure.
u mZTUV 14. msLWYZ

By the Same-Side Interior Angles Theorem,
(6x + 10) + (4x + 20) = 180.
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. Angles Formed by Parallel Lines and Transversals (pp. 155-161)

EXAMPLES EXERCISES

Find each angle measure. Find each angle measure.
u mZTUV 14. msLWYZ

By the Same-Side Interior Angles Theorem,
(6x + 10) + (4x + 20) = 180. 15. mZKLM

x=15  Solve for x.

Substitute the value for x into the expression
formsZTUV.
ms£TUV = 4(15) + 20 = 80°

m mZABC

(38x — 14)°

(26x +22)°

(8x +28)° 16. m£DEF

(33x + 35)°

(10x +4)°

By the Corresponding Angles Postulate,

8y +28=10x+4. 17. mZQRS
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Proving Lines Parallel (pp. 162-169)

EXAMPLES EXERCISES

Use the given information Use the given information
and theorems and and theorems and postulates
postulates you have you have learned to show
learned to show that thatc|| d.

rla
B mZ2 + ms3 = 180° 18. mZ4 = 58°, m£6 = 58°

£2 and £3 are supplementary, so p || ¢ 19. mz1 = (23x + 38)°, ms5 = (17x + 56)°, x = 3
by the Converse of the Same-Side Interior 20. mz6 = (12x+6)°, mz3 = (21x+9)°, x =5
Angles Theorem.

£8=/6

21. mZ1=99°, ms7 = (13x +8)°, x=7

£8 = /6,50 p || q by the Converse of the
Corresponding Angles Postulate.

mZl=(7x—3)°, ms5="5x+15x=9

mZ1 =60° and mz5 = 60°. So £1 = /5.
p || g by the Converse of the Alternate
Exterior Angles Theorem.

. Perpendicular Lines (pp. 172-178)

EXAMPLES EXERCISES

shortest 22. Name the shortest segment
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. Perpendicular Lines (pp. 172-178)
EXAMPLES EXERCISES
® Name the shortest X 22. Name the shorlei segment L
segment from from point Kto LN. s
i wy. xX+3
point Xto Y. 23. Write and solve an
Xz inequality for x. K M
w z
m Write and solve an inequality for x. N
x+3>3 —
24. Given: AD || BC,AD 1 AB, DC 1 BC
x>0 Subtract 3 from both sides. N —
Prove: AB || CD A B
m Given: m L p, Z1 and £2 are complementary.
Prove: p || q m n
D C
2
Proof: =

Itis given that m L p. Z1 and £2 are
complementary, so mZ1 + mZ2 = 90°.
Thus m L q. Two lines perpendicular to
the same line are parallel, so p || g.

204  Chapter 3 Parallel and Perpendicular Lines





